Honors Geometry

Homework for Section 2.6

4.

Given:

Prove:

<AFE = :DEF
FC bis. -AFE
EB bis. -DEF

1 =22

Statements

Reasons

Given:

Prove:

JK = MK
OP bisects JK & MK

=P

[
ol

Statements

\/P

Reasons
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Honors Geometry Homework for Section 2.6

10.

Given: VW = AB \' w X Y4
WX = BC
X is the midpt. of VZ
C is the midpt. of AD

Prove: VZ = AD

Statements Reasons

12.

Given: ﬁ bisects -QPS

KO bisects . JKM K
21 is supp. to -JKM R o
21 is supp. to -QPS

Prove: 2= .3

Statements Reasons

Baroody Page 2 of 3
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Homework for Section 2.6

13.
Given: 1= .2
BG bis. -ABF
CE bis. -DCF
Prove: 3= .4
Statements

Reasons

Baroody
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